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5.1-5.2 Review W5
Wednesday, lanuary 22, 2014

Precalculus Name:
Sections 5.1 - 5.2 (Review)

PART I: Simplify the following trig expressions.
1) sinxsecx

sinx. 1 sinx | ]
a5 - oo |fanx |

2) sin® x(cot®x +1)

sin?x (cSc2x ) = SinZx. | B
x (c ) anzx ~ m

3) CSEx _Sink n S__’_Q_f_. _ o lSeGX [
) —_— = = - =
cotx  CoSX_ sink coSX CcosSX

SNk

4 1 SX_ l-cosX _ SIn2X | = CoSX - SIn2X

-cosx TToex sk T T e
= | -cos- (- stx)
| - coSX
= - cosx + 0§2X
| -CoSX
5) sef.zx+cscz>]< Cax |- C0SX
cosex * Sintk xﬂxsm“x N %sm
:M_ | I N —

raczy SIN2X (PSR SINZX T s2x  Sin?X
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| | [

——

= §in2X + 082X _ — i
rgggi;(&\'n“x = co82ASIN%X T 08 % X SIn“X

=|sec?x - cscex |

PART IlI: Prove the following trig identities
6) cscx—cosxcotx {Sinx

' (oSX, 08X

Sinx ginx

| - C0S2X
SINK

e T
S(nx = m
secx +tanx
D csex +1 _
‘ Sinx : N * \
|, Sinx | + | +8InX § _smx=/

Cosx | cosx 08X (S%  IrSInk  CoSx
2 T Tl esine T
Sinx SinX

8) tan®x - sin® x = sin® xtan® x

SIN*X _sin?x
082X
ginax - SNBRCOS™X  ginax - gin2X 008X _ Sin®X (1 - C0§?X)
0% e 008% X COS2X
= SIN2X - 8in*X
C0SZX

=gn3X  SIn?%X =]+an‘xsﬁ“x]

; CoS*X
sinx =\l—cosx ’
1+cosx sinx

sink (1-coox) _ Sinx(1=008%) _ sink (1- c08%) _| |- CoSX
vosX  (I-osk) L -Co§EX T sinax Sinx
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-

FosX (1-00sX) . V-Co§2X SinZx

PART lll: Solve the following trig equations over [ 0,2m)

10) tanx+v3=0 Co*=T ¥
"‘anx = -\1'3— ’).“ {3 3 2
SInX 5 'E 2] | L
COSX | g

30 b 23]]:) 3
1) 25iNXCc0SX = V2 COS X

2 SINKCOSK - V2 CoSx =0

Cosx (281N%-JZ)=0 @ |3}-’ J
WSk =0  25inx-{Z2=0

=Nz

=‘ SNk |

=T 3r
X 4) 4 SO X‘-‘-'zr,%; 31,_’,312_
12)  4sin°x=3 -

sinzx =3

4 Al
inx=t¥3 _+{3 2 s @
w2808 2l

|
=1 m
\X 3) %-J g:%ﬁ g

13) fanxsecx = tanx

tanxsecx - fanx =0
tanx(secx -1) =0 0.7
tanx=0 secx-I=0 i

SINX _ SecX=|
cosy. =0 e ]
X=0,T wx:O

14) 2sec’®x-3secx-2=0
(2secx +\ (secx - 2)=0

e

T
2secx+1=0 Secx =2 , ’_‘14:
seox=-3 @~ .2 A
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2secx.+1=0 Secx =2

SeoX = - 3 '
S G
CoSX -2 -
15)  tan*x-secx-1=0 =# x4, ¢ X =10 “TGTI
(sec*x-1) -Secx -1=0 &

Sec2X ~Secx-2=0

(secx -2 XSecx +1)=0 '

Seck=2  Secx = -| P \f -
—l-- = 2 "l"' = -:-L ‘ra-
cosx T Cosx ™ 1 e T \
COSX = cosx = -l 0

o
g gl
LI
2
o
=
e
e

H
ofF % o=

=
=

o
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